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Maturity; which extracts her from the father’s possession, etc.

OVERVIEW

The X3 cites a 1"p that (n°172°°X7) NM1732 should be NTX MW R XXM, since
M2 is (even) ‘stronger’ that MAy1 (which is NIX MW AR°XM), for it is
aRT Mwn XX completely, as opposed to N1Avi. Our NBOIN suggests a 7737
to disprove the 1"p, and subsequently refutes this m31°.

nooIN asks:
— 1119991 AND NN IND ON)

And if you will say; the ‘death of her father’ will prove that something which

1S N7 MWwIn X°X¥1n does not necessarily remove her NIXT Mwan. For 287 nnon -
— NN N IN 311‘TN MY ANSEI NP “aND MY ANININY

Extracts her 2877 nywa» but nevertheless is not 7178 MW XXM, Therefore

I can also conclude concerning mm32 that even though it is a7 MWIR ARIM,
nevertheless this does not necessarily indicate that it will be 1787 MW XX,

mooIn replies:
- Sﬁﬁ)ﬂ MINYI XY 19V NN NN NN 4‘[‘19)33 NIINT 91217 W

And one can say; that it is possible to refute this 131 as follows; you
know why 287 nnom is not NIX MW AXEM (even though it is MWAn ARXM
2X), because there was no physical change in her body -

"The argument of a 1°21 (in this case 2&7 NN°») is; granted that N1732 has a X7 over N17va (that it is AXXM
AT NMwon), nevertheless this X7 is irrelevant as far as TR Mwn XX is concerned. For we find
something which is also a8 mwan axxw (like a7 Nn*n) and is not NTR MW AX°¥M. We cannot therefore
say that since M1 is 2R MW 78X that is sufficient cause that it should certainly be 7178 MwAn XXM,

> When the father of a mavp dies, his heirs do not inherit any of the rights which the father had in his
daughter (including the rights of Pw17R 777 AWYH, etc.).

3 If the father of the 712v71 mnx dies during her (six) years of servitude, she is not freed from her master.
See ‘Thinking it over’ # 2.

* The concept of a X27°0 on a m°21 may be as follows. The logic of the 1"p is solid; mA32 is stronger than
M1 [for it is AR7 MWn AR°XM], therefore if MAY1 is NI MWM XXM then N1732 should certainly be XX
N mwan. The fact that we find an instance (2877 nn») which is A8 Mwan AR°X1M and not MR MWwAA, that is
only because the a8 mwn AX*X1 of 287 NN is (much) weaker than the X7 Mwn AX°%° which M732 causes.
A strong 287 MR Ax°xy such as M3 will surely be 1" IR Mwn Ax°x¥m from Ml There is no 21
concerning a strong 287 MY n IR°¥0. (See following footnote # 5.)

> There is no change in the status of the n2 (per se) that is causing her to leave the 287 M@ by ax7 nnon.
Rather since the father is no longer present his authority is removed from her. However this should have no
effect on the 17X. Concerning mM732 however, she leaves her father’s N because of her maturity (the same
reason that a 771 leaves 11787 M), therefore she should certainly leave the N7RiT mwA. See (however)
‘Thinking it over’ # 1.
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Can you say that concerning n1133, where the body did indeed change
physically?! Therefore the °2 is invalid for we cannot compare 287 nn» where 7Inw1 X2
77 to M2 where 7137 710w3 39, and the 1" remains.

SUMMARY
We cannot refute the " with a 1231 of 287 nn>» for there is no A7 MW by
2R NN as opposed to NM1132 where there 1s a 7137 M.

THINKING IT OVER

1. When a 71vp is 287 n1wn AR¥Y” through aX7 N0, 1s it merely a removal of
2x77 M (for he is no longer present), or does the mivp actually ‘acquire’ her
freedom and self governance (by the father bestowing it upon her through
his 7nom)?°

2. Why indeed is an 7% not 11787 NI ARY” with axs nn.” Generally one
can only sell the rights that one has. The father’s rights over his daughter
extend only as long as he is alive. That is what he sells to the 1178. He never
owned his daughter after his death, so there is no sale concerning his
daughter after his death. The X should be freed axa nn 2 PRI Mwn!®

® See footnote # 5.
7 See footnote # 3.
8 See "3 and 7"nX.

2

TosfosInEnglish.com



